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Rabi Yehoshuah says; - W IR PIRT DOIN DOINT N PRI 92
One who eats food, which is a Rishon or Shaynee; is a Shaynee

Overview

The X713 cites a 71wn where the view of > is stated that one who eats food which
is Xnv whether it is a XMWY MWK or a "1w, the person who eats it becomes a v
and is therefore 2019 the 7M. This coincides with the previous 7awn that in this
case the person is only 7019 the 770 but not X»vn it. Our MO discusses the
reason for this ruling.

- oW 215 HY 53 AYNY 2IY 198NT DIVN RAYO WA (0w x5 91 PIINT 72 P93
In the second p=5 of 191 noon the XX explains the reason of °"1 (why 92X

1w 1w 99X) because we find that a "1 can make a "1 through liquids therefore
a person who eats a " can become a *1¥ (we have a precedent by 7pwn).

MooIN asks:
= NNRYL INNY NN 7298 NI 9IND ON)

And if you will say; why was it necessary there for the X773 to give this reason -
= NY9)2 71902 Y9197 %Y NYIY 1Y 99107 N1I%)

Let us say, that this is the reason why a %12 makes a "1w, as the X923 shortly
explains -
- %5599 npynt PPYN STV PNRNPV POIIN JINT 12319017 DIVN

Since sometimes he is eating 1"8»w 39228 and he will place 72170 liquids, etc. in
his mouth at the same time, so the °3 923 which is in his mouth will be 501 the 7m0 wine
which is in his mouth.

N1B0IN answers:
- 4119 99989Y NY DX >Y %W YN MUYY 139 PN N0DINT 1951 DIV N5 U

And one can say; that because of the 579913 of 510°5 by 0 alone, mentioned in

!'See *"wA there *"y 7"7 who writes; NX 2017 93 2°IRY *INPT2 790N PPN WY1 Y NOMW TPWHATY Y9N W 9N YA OX
QTR "33 1A RN21T Q1WA I A CIWT Apwn 0"V nowRT 11001 1w DOWT W JPwRa Tm 7m0 nvad TPwn RO 91700
YN RN T2°9KT MO M2 192980, Briefly, if an "1w 92 touches another food which is wet, the liquid on the food
becomes a WX (per the rule that 77nn N5 PRwn Xnvn 1107 IR 20197 73), and the Ppwn make the food into a "1w.

? There seems to be a valid explanation why the 0»2m made the 77773 (that “1w *3w Y2 929%7), why the need in 7
to offer a precedent that 1pwna 1w 7w *3w; what does that add to our understanding.

? The general rule is that the item which is becoming X»v has a lesser level of X than the item which is making it
xnv and here the person eating the > 92X has the same level of xm1w as the food, namely a "w.

* Granted that there is this concern that while eating an *X 921, this may cause 72710 to become 109, nevertheless
the solution must be something which can be rationalized; it has a precedent.
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our X1, we should not make one who eats a "12 into a "2 unless we found a

precedent for it -
INDITVINY “NIINY S 1T DIV

For otherwise it appears to be a charade and a mockery

Summary
A solution which requires a 77°73 must be rationalized.

Thinking it over
Was there a X779 82117 when the 1327 ruled that 7°pwn2a "1 7w *3w (which seems

to be the ruling before the ruling of "1 1w %2, since PpPwna "W "W "W is the
precedent for *1w °1w $21X) and if not, why not?!

> If there never was a case where a *1 makes a ", people would consider this 7713 of making an *3w 2 into a "1
as something bizarre and laughable.
® See 2,n0 PY 2" who writes, MIX .R9IDVRY DI .RWS.
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